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Direction! In Question nos. 7 to B:

rdarr wrg deng 1 90 on

In the following two questions, artange the | qld (3 o g wzent b faaerit o fag 0yl
words given in the options as per the| |21 ol alaiidAl b qepns AL A (s
dictionary order and find out the word which'|n - aer s 47 [ P T PH A (OB e

will come firstin the dictionary

T .
(A) Brick ) Bright
(€) Bride (0) Bunty
-
(A) Lack (8) Layer
() Laser (o) Latter

Direction: In Question nos. 9 to 12:

In the fo¥owing four questions, find out the
mirror image from the given options for the
Word/Image/Number given in the questions -

LN
10 STROKE
(A) 3X0ATZ (8) EKORTS
(c) ROKETS (D) 2TROX3
11 eagle 45
(A) 2hslass (B) ssgls d
(C) 54 elgae (D) 45 eagle
12 WESTERN
(A) MR3IT2IM (8) W83T23W
(€) WRET2IW (D) NS3T2IW

[ ey s

7
(A Brick () Bright
(© Bride (©) Bunty
8 .
(A Lack o Layer
© Laser (©) Latter

Nz we i@ 9 Q12

A RY 1w usd N ve/RbEw
SR Rur nar & 1 Ry Ay Rec O ag
Rew g3 o) g8 Y 939 @ S s

q
(A) (8) f
FaN
v N\
—
(] (0) [~ .;
e
o STROKE
(A) INOAT2 () EXORTS
) ROKETS ()] 2TS0X3
"' cagle 45
(A) 23 sigss ®) ss3la 22
| @ S3elgae © 45 eagle
|
|
112 WESTERN
(A WMS3T2IM () MS3T33wW
(© MSET23W (9 NS3IT3W
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e T g U 13 ‘{1;141 \
= i 14: : ¢ 2) ail a ydld Yzl § —_—
irect n;lnauemannos.ﬁw g na A 97
‘ﬂlmm‘: (ollowing two _questions: 1 ‘-’3‘-"! “‘;, qd dil @ P A fad (s 1 A clock rang one time at : |
: yeshon a SEMES of words and "l_*mbers b | ;‘!}T\' | Raa gl qﬁ @ fem times at two O'c‘lark t: gl Oclock, twa % 1w 2 5
Jf(::rms-d according to some rules. Find zzjlt ::ee ‘ "u‘\: % w8 IR el O'clock and so on‘ ‘an:cc tirnes at !kree‘ o a@n
|correct answer from the options O | 2 clock will ring in 3 day ? mzany times fh'f‘ TN 2
]bla"k space ] (A) 144 times ® X i
130.6_#6_5D_BH! 1 238_6.F6 508N (©) 148 times ©) e | 5
3 . 8_ )
N % 0,86C7 5 w8716 r w p 8 6C7 ® W 8 716 sa 156 times ‘ (@ 14z =7 0 135 77
9 ©1C74E9 © g 8 7D 9 ®C 7 4 E9 #4-157x8=49 and 65 = 24 then |14 =fZ
(@ €,8,7.0, E 8 the value of 8 x 4 would be - en|m TS a4 = Ta8=49TELS
« A C10.15_201_ 1 A_c10_15_20|_ () 24 () 30 | (—A‘24 A NS x4 @ HA DT -
(15, E,F,25 ) 7,€,G,25 @ s EF 2 ®7EG?25 © 28 ©) 26 il g 2 © 30
g . 23 [}
(0 5, EG,22 (0 §,EG,25 © s, E G 22 o 5 E G, 25 . F"f;tmfm"l" Question nos. 20 to 23: lﬁ%m. T W 20 ?: =
. S n the following four questions, in the gi LRkt TN 20 H 23
s If there was fifth Saturday on the 30th of |18 W el we @ 30 il d) didd] | options, three are e xch, i l A e u g @
e th, then the firt day of that month | TN 2 A 9u e s [ - make their group. Find out the odd one which s Lty 2 A @
was (" AR ® gERIRIar is not the part of this group. e ooz e Sl il &
i 2 ac @ HICT B? z T o=
(A) Friday (8) Thursday (@ HHIR ® AR :Tn L =z THm T
(€) Monday (D) Sunday “ ]
20. Fir}d out the odd one which is not the part of | 0. 92 T& @13 I 2, 71 752 ¢ 7= 2
16 Prem, whose face is towards south, turned | 16 y Rraer 1@ eféror @ AR R, A ::nsgn_:up. () ,',5_‘4‘0_1: e. '(‘Bl‘"p = "—: 27
e o and move 15 m, after this he again| Al AR TIIX 15 ® wer &I TH ) 25-40-15 ® 17-40-24 - h 17-40-24
turn his left and move 7 m. Finallly he| @& g g e Al 3R 7 ® © 12-35-23 o) %.40-32 (© 12-35-23 (@) §-20-32
turned towards west and move 15 m. Find Tad & | 3@ 4 uf¥aH 3R @ . . sradip2 ‘
out the distance from his initial point. S 15 W "ol © | & ¢ i
() 16m (8) 27 m s g 1 o W # fes @ 2 f;‘?fgigzthe odd one which is not the part of |2 9% T& &1 # %, :
©7m 0)37m A 65 =R ®) 97 B b Europt . ! W gdy
C| | Q 9=
@ 7%/ () 37 @ (©) Japan (D) Russia ‘1 i
’
e 1 . e 17. . |
. du;ofa job in 6 days and Salma |~ e fR @ Ed :_::- w B o6 T l = :P]\ri\sdgorgtx;he odd one which is not the part of‘u R@GaATEME A E
. (A g ' < S
) (A) 5-19 (8) S-13 3) N4
can do — of job in 3 days. In ho s N-14 l ) K-
2 4 wmany days| qu @ & AR Werr @ @M 1 (©) K-11 (0) Q-16 | @ K Qe
can they finish the job together ? 2 |
? 5 ! : [ 2 Find i
() 31 days (8) 41 days 2{7 w3 A d Eas I i ‘ i gc:z:)heodd one which is not the part oflz:\ qg U ot @ 3 D sz § B R0
y : W 31 f& (ﬁq X ? () Kitten ®) p | W Kten ® Pup )
i B) 41 up |
RS o) None of these z ¥ S © calf 1) Cock | 1@ carf ® Cock
© 4 &7 ® T ¥ P T \ ‘
|
|
|
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e =
_u__,n_u.,_o_._ In Dcmmro: nos. 24 to 28: | Dmm

lin the follewing five ques

3m_
based on the diagram given below, s.:nﬂ_n ,ﬁwﬂﬁ.&_&_ﬂw 2, 1 2 n%_,
. triangie | ' wm_ T ﬂmm.
rectangle represents managers, | 2 W |
represents |adies ano the circle represents ,.: S GRCL
singers. _

T

tions, answers arc ,

Wnch numbsred space i diagram ¥
recresents ladies who are manager 3s well
assinger?

(A 16 (B) &

as ® 7 *
Which  numbered pzce In  diagram |z

rezresents mznagers who are |adies but not

- ¢irger ?
2 sunge

(&) 4 () g h
1a 35 {£) 12
The number of ladies, who are singer ncn.»u
not 2 manager would be -
(&) £ (5) 15

|
@7 e) 12 ,

,

W
Whnich numbered space in  diggrem |77
represents manzger who are neither ladies |
nor singer ? _
(&) g B) 12 |
as (o} 35
Which numbered space in  di2gram 2
regresents singers who are neither lzdies
nor mznagers ?
& 15 I8) 12
Qg o] 7
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29 Jayesh is taller than Ramesh and Ramesh is | 5 Ty @ i r’l,lllrlJ
shorter than Nandu. Satish is taller than o _._ﬁmwu.mg.n RUREE A
Vinod but shorter than Ramesh. Nandu is ..Em_ & ﬂmﬂ.q 7 foee 5 &= 7, T
shorter than Jayesh, Who is Lhe tallest one ? T e e T, W9 F o g
(A) Ramesh (B) Jayesh (CYRERET B
(9 Satish (0) Nandu (© e e

— - e R

Direction: In Question nos. 30 to 34: Prdam: yo @ T ==

In the following five questions, from the given | 71 fiay Al _vlu_w 340 .

answer figures (options), select that one figure wﬁmﬂﬂ. (e © \,jl.. leg "W e

which will follow the sequence of the question | 31 w3 37550 ml., -»Jhu.n.:, P E T

figures. ——— TATI eR E

30 Question Figures : 20
Answer Figures : 4
(A) e|” (B) |”. | e
(0 [— (D) [i—— [ (=] o =) =

3t Question Figures : '3 geq aelaal

I |
\\‘ | ~ \\ W = | "\ u_- N ’ /|/_”
Answer Figures : , I Dt
(A) A LN N | = |/l
D X %
(c) (D) /_ (@ (1> Nt
| : N

32 Question Figures : ©
£ f_ - ,

3) (=]
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W Question Figures:
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Direction: In Question nos. 40 to 34:
il the meaning of SIP TON TA » wam P
‘SIP TOK PA means 2t 3oaz &, and TIC TOX

S means 2| acaw

Q Thecodeof 3 s
(A) Lither TIC or SA
& TIc

“t Thecodeof 3is
(A §1p
© pPA

< The coce of wWna' is
(€ 1A

i

!

==l
LU

(8)

I

D)

MM
LO

(8)

(o)

| ] |

(8)

1]

(0}

]

1
x

|

+

&, then answer the
‘following five questions on the basis of this -

(8) S
(©) TOK

(3) TON
I TA

8 10X
S N

-

W T TIC =
© TIC
R M S
W osp
© P
ot S S

v
) _J @ ==
i _ {0 3]
0 | i 1
s} ) I._ o ==
| I— =g
IC IC
|3 R
(A *Dﬁ & =0
B | L
_ ) i \n/., (o) ]
; _
/] N
| %
e\ - (&l 5
© =] ™ =
Fidvm: uw wEm a0 ¥ s
TSOSIP TON TA § &8 R R O§RR
A~ E 3 e .
&, SIP TOK PA & ¢ 2« = 2.
SN TIC TOK SA = &' ¥ R =we &
RN RS NI A e Syl S

TCX
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&3 The code of FT IS

(Al TOK 1B) PA

1 TA (o1 SIP
« The coce of ToT is

&) TOK (8) SIP

(C SA o) TA

< If the zlphabet cf 2 coding-Cecoding |4 ofe g Ool®

languages s

ANSOCPDQERFSGTHUIVIWKXLYMZ

‘CAT" is written as ‘ONG’ the ‘DOG’ would be |

Q ﬂﬂﬂfdﬂ.&v_ﬂw-

| woToK ® PA

| © TA © sIp

.T.u gy @l PIS E -

LW TOK 81 sIp
cl sa ) TA

| WY B qUAETE
, amonnUOmemmﬂIESE_AxQZN

and| TSR & a2l ‘CAT' @ ‘ONG’ foran <

t & poG @ S W for@ S

writien as - “ -
(4 PCS 18) QBS | pcs (8) QBS
Q0 acs {c) PCT | (@ Qcs o) pCT
|
« Thevzlueof -7x(-4)+56=(-2)is m& -7 x (-4) + 56 = (-2) &1 |1 % -
A 56 (8) None of these _ A 55 B T § FE T
19 55 (i) | 1© -58 o g
« In 2 que the serial number of Rzhul is 8 from |+ (& TEfC A IgA & HEIG AN AR ¥
beth the side. The number of personsinthe| 8 € ©I ﬂmw H oA Al & §E& T
quezre- | A 13 (8 g
g 15 o) 12 i
« f = 8 [ = o n .
The value of [£2%7 correct upto 2 decimal 22275 2¥FAT & T W a6 A @
N7 NE—T
pointis faz 2 9= 28¢5
Siven /7= 2645 ¥
(&) 8
. — _ 2.22 o 8] 212
(9 Nome cftrese  (0)231 O FH A TR R O 23
4 Thelargest frarton amo he followi 5 1 5 :
> Mn..m uwu:m ong the following is | # 17 l..mﬂ mqq.m.mﬂmm,wﬁﬁw
s — 25"12"12 15 .
3 AL 1% j &
W13 c .
= B 5 13 (8) 5
e 12 12 e
a 17 @ 11 A2
= T 17 (o 11
Pl “, 25 m

L —

2081150

P

51

52

ot

|f '+ mean =, = means ‘x', “x' means ‘+' and
.-+ means “+' then the value of 2+ 6x 6+ 2
would be

(A) 10 (8) 2

© 4 D)5

¥ and Y are brothers, P and Q are sisters. |f
the son of X is brother of Q, then the
relation of Y with Pis -

{A) Uncle () Brother

(o) Father (D] Grandfather
The Highest Common Factor of 594, 810

and 1260 is -
(A] 18

(€] None of these

(B) 54
(D) 162

Of the two candidates in an election, one
got 40% of the votes and lost by 2980 votes.
The total number of votes polled is -

(A) 14900 (B) 15900

(©) 13900 (D) None of these
5 bottles of perfume cost ¥ 1200. The cost of

7 bottles would be
A T1,880

(0 ¥1,680

18) ¥ 1,780
(D) None of these

The value of TV3I(W27 +5V3) -
@.cﬁwm....\uhlw = N/JWU is
(A) None of these

© 11043

(8) 330
() 23,3

Find the least number by which 23328|ss
should be multplied to make it perfect|

e

) Jﬂw “+ @ uw..«NM. AN | H..Uln X, i
FA e T e ey .

X 8 :2 H HH g -

X Eal
.tw...ﬂnuw+m

GV ®
) 4 0 5
TXIRY T E P AR Q 7

i .. EES - ]
TQFTEENY TP e &
T ©® wE
€ e 0 =2

594, 810 T 1260 @ Heos
(&) 18 B 54

tcl wﬂ.ﬂ J H“Jm T3 10) 152

mp
'

n

3

5. 5 Filcl URLA & W T 1200 5 & 7
Td THF F I T -
(A) T 1880 (8 T 1780
© T 1680 @ =% T 75 7F
__mm V327 +5\3) - W31 -2175)
| ®AAE -
| W= Q2 48 ® a3
_ ©110:3 ©123\3
f
T P ¥ o & FW TR T

-t =

w o & & W

TOm &3 Y 23328

square - | w3 B Y ¥ TE A
(4) 3 (8) None of these | 104 © 2
(© 4 (0) 2 M
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s
- e labourers o Sty e o
— , wages of 2 M 9 qaidi gy g (os
A;J as m.:u f0.3 T« Atnm,m. u FT 0.3 BT HE & - .5 _Mmﬂmmc then the wages of 15 labourers for 4 A 15 1 X ﬁ_ ....mm A E gy ¥ b
¥ Thevalueof (———+ < )of0.31s- e .,.Ji Id be " T A 4 (o 7y g 1 Prm
' 0.018: | ' oo days Wou 8) 7,400 DI b w g
(A) Nonecfthese  (8) 57.882 | TR A B T8 6B 57.882 9 None of these et s © 2 ga0 B
(c) 53.772 0] 51612 | @ 53772 (B) 51,612 (0 76,800 g 24w =
| - 1 . : . . . . i . . . c
ss Five bells starts ringi :m_.,mm...m_.. If the bells | s dfg T Ue Wy ged § 1ol dfem & The m:._m__wmm% five n__m_..n number which is | s« g gl o) ﬁnb ) ey 2 o, =
rimg 3t interval of 12, 18, 25, 40 and 54,  HWIE 12, 18, 25, 40 T 54 VIS H exactly divisible by 241 s - Yl R A8 1240 & S
seconds respactively, after what interval of ORI 14 SRS ummmdwﬁbq_ ™ {A) 10000 8 10119 14 10000 ® 1gig %2}
tme they will ring together ? | SRNIE & I1Y 98 YT U WY ? (D) None of these (© Co L (S
(A) 1 h 10 min. (8) None of these [ I m_ﬂ 5 P B =T N FF a8 (€ 10122 10122 O 395 % 25 a5 ]
{€ 1 h 30 min. {8} 1 h20 min (€ 1 ger 30 iy, ) 1 Hey 20 fiv. m
]
== If in a coding-deceding language "GAIN’ _m_un e 5O wahe WA # GAIN' @I ; M
written as “7195°, then the 'LOSS wi | 7195 ._V‘g Sran W. % LOSS’ mﬂ % =
written as - Aﬁ - nnp
(A 3600 (8) 1251 | ®) 1251 =
© 3611 () 3610 _ ® 3610 S
_ 5 n
= Satish had a packet of 24 pens. He gave Wﬁ _ 4_ﬂ.u_ F UE 24 T & g
Pl w@ AW oA e 2 @ R el e o
1 “ 4
Nupur and —of the remaining to Ananys, of .
6 @ Lo s o 2w g e
1 5]
the rest, he gave— to Krishna. The number .
3 | o= Lem FOT B < o ¥ |
of pens finally left with Szdshis - * 3 ) R .
() 5 (8 Nonecfthese | & o 379 ¥ @@ ¥ A wem & -
@ 10 ©) 15 | Ws Gl =4 ¥ B T

” @ 1 o) 15

& A certain quantity of rice is put into two |8 TiEd @ [Rad W A el § o
bags in the ratic 9

;‘nw
.Q.“:_.,mgmmm;mmm@dsﬂﬂﬁwm_%w REREIRG
contains 27 kg of rice, then the total Tad @ TEr 27 g G
quantity of riceis -

_ \

| EGEIE] .W |
(A) 20 kg (8) S0 kg | (A 40 fEm (8 50 fuu _
(0 48 kg {0 45 kg | (0 48 fEm D) 45 fbor

A shopkeeper bought 1cffees at the rate of 6 2 UF THHeNY 6 W I 5 W Edear §
for TS and sold them at the rate of S for 2 6. |

: 2 6 o 5 dudl & | iGN
His profit percentage is -

ofee =m ”
(A) None cf these (B) 35 ) mﬁdﬂ: Aﬂw & 18 3 m
@ 30 (o) 44 | a & E PP —
,_ Q) 1ag (0) 44 L P e
“
w
|
i
i
Page 12
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T Ty ._.../ pamenty, = MaNe AR RW vRas & fyg e film & harast2) o N B e s
ES L S o N Ny e il ~ s N A?am = 14 - B e . 5 e PR Teee. s
- IR T I W pung P Ry
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" S 16 8 23S ArmNem B 23amxum = ma.ﬁims“ma, B % oo T e
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- A OO o (. ™ ~a = Z,m..mImm.rn. i 2 — - -
@ et M walom ¢ 3 NN Ll L LI WS ™ nﬂuﬂ._ﬁl. PR e
- - - - =
mpur (Tamil Nadu) :
S S W R Y © paramou
> s = YRTED {_{e 7
B IOROKy e win = < Nl
A memedon B Tissues Wy BEw R @ s @ The Nobel Prize was first awardedin i s
= L Srud - — —
s . D ik b ek aedbaas 3 : » 3) 18758 . © 3TN BT R/ S o
C 3200y 2e0MDeT RINATS IR e C &0l 3R 93 Wwem & 83 s (A 1958 = W owzz ® e e

..« ~ - ,
e R X @ 1972 (2] 1501 o

D Xres R @ -
g irvented th e SALLPOINT 22N 2 E e = — = _
) : PR g | F DDA D D e AR A ™ WhRotv ~ars SRS R S RIS o= ST e
» NMOT 36 e TUOWING S USSE 0 2e00iS ¥ RESRR R Y w W  wwm @ (A Wright Brotners W = L
O O By e =7 - : ~ STt §o=
Al ThosooT Qs & Orace > ) Waterman Brothers —_— = == 5
& Shicon Ti Creombe wW I B u.i/l.hwﬂ (3) Wat= aT si- = 3 = 3=
D al 4 S - e . - ~ P, ~ f = -
i & - i (@ Bicc Srothers (B) Biro 3rothers
R B Jaigs
) X stl2 of Plassey was ouz~t - E e = o= o e —r - o
2 W was the IS ASan Wineer F Nooe S ST TRET OST mm o = = TheBatt e T TSI R E R AR
S - - . >l NN =Y S qu.n.l-v ( 1782 a TAL = ~z-
Al Cu. Ramnen & Igiv Sach WS == & T s « 1757 ©) 1743 © o7 & s
AconciInar T oore T ™~ N — . » 5 : ~ =
S Somemerzosty e I TR @ 1SS r Who said “God help those whe helr © "I = £ = B 2 3 —
Momer Teresy tremasves 47 sE ST T i r = -
. W Arcre Maudis (8] Ancr2 Gice W = === m o=
S Taper Sirmemcy ST Seme r ndls e S| oI 2 Inx aRd ow o uwriw o3 A o
L &t 3E SN B ) R T o O poda 2 e DL
AL IR 5 IR o % =2 = ©Q _Pm-...‘ T SINEY - KOExT os= B == TPy
L o olest S Ty e R @) Swam Vivegnanda
® O sthemneada AR B == Ao = Wh2 was known as lronmanof India ? TR TEFTEI TS T i
A Themmes pousey B S_res ..hl...l S N () Govire Ballabn Pant W T2 s T W FTESE IR
Thencs pous Tr=asu A TETEE IO O® =R
Q Caraoracon =T S @ Jzwanarlzl Nenru € = K IW
o Seslliienen (L
D) Sparca ohLToe (Q Subhash Changra Bose P |RITX T35 <7
©) Sardar Vallsbhbaa Patel
T FremrpesTedaRSewershicdence: T S5 2 @ B o T T R
1 - —_— e T = - - = e— R S T T T >
of Te Tlowmg ~signar 5 T = T ™ Teachers Dav isobsenaedonwhichdats? X {FF TS S T F=T 93 ¢
& Taasm P acmer o= & =< W ...mJ.fm«, o3 {8) October, 2 (LU ® F¥2
2 Zorcasramsn (Fas “sigor 2 = & 5§ 19 Jzriany, 22 ©) Noverber, 14 Q T R (SEEEE T ]
&1 Swreasm
= Gand Contry) Termiral. Pt Mo New T TE TR TS TE TS T o
- = Y - a
-~ - g

¥ore s T meres
Taiw

W st S

W N Spkeay Soton W == 3T IR

R Lorges S bany S3ton K T 7% o= &'Tn |
(] : —_— e i
2t None of e ™ == § ¥ =
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'Direction: In Question nos. 80 to 89: ‘;
In the following passage there are ten b!anks,l‘
each of which has becen numbered from (i) to||
(x) Four words for each blank have been
'mennoned against the number below the |
passage. You are required to fill the blank,
\choosing the appropriate word in the context
|of the whcle passage
The (i) of co-education in India has been of (n).
'wind In the narthen part of our country, there
are a (1) number of co-educatonal schools.
Iwhile in the southern part the (iv) of unisex
|schools are more. This is also true for the rural
lIndia, where the rural masses are both hoys
land gicls (v) together. The aim of co-educahon
|(v1) 15 to provide (i) and learning atmosphere
[for the boys and girls under one roof
[However, many people, who do not (vin) this
|system of educahan, are of the opinion that
[this system 15 not (1x) They feel that co
\education is a (x) phenomean.

w (i)
(A) rightly
() hasically

(B) starting
(B) primarily

et (1)
(4) principle ) theary

(<) stary (0] fustory

e ()
(A) studying (8) playing
1) reading (1) teaching
e (uii)
A} stand (8) aipjise
() i erested (0] fanr
w“ iy
WA sustaming () gl
[N 7PY] 1) gewrarding
“ (4
(A pipral LN PET

Y fubile 1) vagus

Y

% (i)
(A} two (8} mixed
(¢) confused (D) many
87 (iv)
(A) count (E) existence
(€) amount (D) number
# (v)
(A) playing (8) studying
(€) learning (D) reading
80 (iii)
(A) mare (8) plenty
(©) large (0) unlimited

Direction: In Question nos. 90 to 92:
in the following three questions, give one
word for the following wards/sentence

w A man who wasles his money on luxury
(A) [xtempore (B) Fxtravagant

(€) Nymph (0) Surge

st A tank where fish or water plants are kepl
(&) Aquarium (8) Aviary

(€) Nursery (D) Apiary

as A place where birds are kept
(A) Aplary (8) [ xtermpore
(€) Aviary ) Nursery

Direction: In Question nos. 94 10 94:
I the following twa sentences, improve the
upderlined part if needed

w They wanted 1o know where was his haine
(A) wihiere 1s his hionse

(81 wahiene his hiise wias
() where his hovse be
(89 Hep i overnedit

e 16

S T

-

o Yesterday Lhave received 2 legal notice from |2 The mother was a
the Bank f?r repayment of the loan | had safety of her son o e
taken fromit. (A) about ) (8)
(A) | did receive (8) I had received © at =
a
(@ Ireceved (D) No improvement i
Direction: In Question nos. 85 to 97; || "® Withina moment, he burst tears
o following three queshons, seme parts of in (8) outin
Inth
have been jumbled up. You are“ (@ into (©) off into

a sentence
uired to rearrange these parts which are}

p, Q, R, S to produce the correct

req
|abelled
sentencC.

]

g5 Each culture
p : flourishes when it comes
Q: own traditon and yet
R : draws strength from its
5 : into contact with others
(A) SPQR (8) RQPS

(€ rRPQS (0) SQPR

o | saw a familiar facein crowd,
p o 1stopped 1o have a closer look.
Q : he looked around but didi't see me
R 2 it was indeed my old friend
§ [ called out his name
(A 1Ay ) Pars

(©) PRSOY () PSaR

Maohan

P on business
1 whase awner was out of town

1t who also mentioned the names

& of his confessed having stolen goods from
agrocery shop
(AL POy

(0 Qusp

Divection: In Question nos, 9K to 100:
I e followlng thres questions, It up the
Dlariks witly (e niost suttable alternative.

o) ey
) psar

‘(amdisg  theit habits.
) of 18) with
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